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� &  � )� + �  ( � , 8 � �! � B � & 7 %(  &  � 9 �  � 	 %( &  � � � � ' � ' & % �  < )
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 % � %7 ?� �� >7 9: , � �! 7 %7 � <�

�� 
� � � � � �� � �� � � 7 � � � ; %'(  < � + �  < � , � % � 7 �� 9 ! � & > � + � ,

Γ =< N, x, {Ui}
n
i=1, {Hi}

n
i=1 > )+ � % N = {1,2, ..., n}/ �7  R %' & !  

� + �  (  ! )

x′(t) = f(x, u1, ..., un, t), x(0) = x0, x = (x1, ..., xm), 0 ≤ t ≤ T,

, 8 � �! � B % � �B ' � ' & % � � ! 8 �  ' & � �7 ' & ! % Rm ) U1, ..., Un/ �7  R %' & ! �

' & � � & %+ � < � + �  (  ! 1, ..., n ) � Hi(u1, ..., un)! 9 � + � 9� � + �  ( � i ∈

N�



� 8 � �! � B % � �B ' � ' & % � � � �' ' � � & �� ! � %& 'B 7 � � 7 & % �! �� % ! � % � %7 �

[0, T ] )(  &  � 9 < �  R %& � 9 & >( �( (  7 % ;7 9 � & �( � � %'(  7 % ;7 9 ��

� & � � & %+ � � � + �  (  ! 8 � % �' & �! � B � & '  �  < 
 ,7 ( ?� � ui = ui(t), i =

1, ..., n� � � �! � ' � �  ' & �  & ! 9 � � �7 7 9: ' & � � & %+ � <( � R � 9 < � �

� + �  (  ! 8  � , ; � %& ! 9 � + � 9�
Hi(u1, ..., un) =

∫ T

0
gi(x(t), u1(t), ..., un(t), t)dt+Gi(x(T ), T ), i = 1, ..., n,

(  &  � 9 < '  ' &  � & � � � �� � � 
� �� � �� � � � 
� � �� �� � �� '  ' & �! � B � 	 � :

� + � % gi, Gi, i = 1, ..., n/ � � � �7 7 9 % 
 ,7 ( ?� � �

� , 	 %' & ! , � & (   8 % � � & � ! 7 9 % � 7 %(   8 % � � & � ! 7 9 % �� 7 � � � ; %'( � %

� + � 9 � � 7 %(   8 % � � & � ! 7 9: � + � �: 8  � � %� %7 � % � 8  7 � � � %& 'B

� �! 7  ! %' � % 8  A �� ,�
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� � � � � �� � � � @ �! 7  ! %' � % � 8  A �� , ! � + � % Γ7 �� 9 ! � %& 'B

7 ��  � ' & � � & %+ � < (u∗
1, ..., u∗

n) ) �� B (  &  �  +  ! 9 8  � 7 B � & 'B ' � % � , � 	 � %

,' �  ! �B

Hi(u
∗
−i, ui) ≤ Hi(u

∗)

�� B 8 �  � � !  � >7 9: ' & � � & %+ � < ui, i = 1, ..., n�
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 8� ' 9 ! � %& 'B ' � ' & % �  < � �� 7  ' & 7 9: , � �! 7 %7 � <

xt+1 = (xt)
α, t = 0,1, ...,

+ � % 0 < α ≤ 1� � � � �7  7 � ; �� >7  % '  ' &  B 7 � % ' � ' & % � 9 x0�

� � �7 7  < ' � ' & % � 9 ' , 	 %' & ! , %& ' & � ?�  7 � �7  % '  ' &  B 7 � % x = 1�

� ' � � x0 > 1 ) &  8  8 ,� B ?�B ,� 9 ! � %& )7 %  + � �7 � ; %7 7  8 �� � � � R �B ' >

( x = 1 ) %' � � R % x0 < 1 ) &  !  � � �' & � %& ' & �(  < R % �' � � 8 &  &  <�

� ! % ' & � �7 9 "� + �  ( � 5�  !B & � 9 � , � � �� 7 & % � %'  ! �7 9 � �( ' � � � � � �  ! � & >

' !  < �  :  � 7 � 7 %(  &  �  � � 7 & % �! �� % ! � % � %7 � � S ,7 ( ?�B 8  � %� 7  ' & �

( � R �  +  � + �  ( � � �! � ' � &  & �  � 9 &  < � � � 9 � 9 u� � � % %& ! � �

ln(u)� =  � 
 
 � ?� %7 & 9 �� '(  7 & � �  ! �7 �B β1, β2 ) 0 < βi < 1, i =

1,2�
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�

� � � � � � � � �� 	 � � � � �� � # � % � 8  �  R � � ) ; &  � + �  ( � � %� � � �

! 9 �  ! � & > ! 7 � ; �� >7 9 < �  � %7 & ! � % � %7 � u1� u2 " u1+u2 ≤ x0 5�

� ' � % � , � 	 � < �  � %7 & ! � % � %7 � t = 1 � �� � % � 8  8 ,� B ?� � ' & �7 %&

� �! 7 9 � x1 = (x0 − u1 − u2)
α�

6+ � � � �( �7 ;� ! � %& 'B ) � + �  ( � � %� B &  ' & �! � % %'B (  � � ; %' & !  

� 9 � 9 8  8  � � ��

� 9 � + � 9� 8 % �!  +  � + �  ( � '  ' & �! � & ! %� � ;� 7 ,

H1(u1, u2) = lnu1 + β1ln
(

1
2(x − u1 − u2)

α
)

=

= lnu1 + αβ1 ln(x − u1 − u2) − β1 ln 2, x = x0.



� 9 � + � 9� ! &  �  +  � + �  ( �

H2(u1, u2) = lnu2 + αβ2 ln(x − u1 − u2) − β2 ln 2, x = x0.

S ,7 ( ?� � H1(u1, u2)� H2(u1, u2)! 9 8 ,( � 9 ) 8  � &  � , ' , 	 %' & ! , %&

� �! 7  ! %' � % 8  A �� ,�
∂H1/∂u1 = 0 ) ∂H2/∂u2 = 0 ) � � �

1

u1
−

αβ1

x − u1 − u2
= 0,

1

u2
−

αβ2

x − u1 − u2
= 0.

T & ' � � � 7 �:  �� � � �! 7  ! %' � %
u′
1 =

αβ2

(1 + αβ1)(1 + αβ2) − 1
· x, u′

2 =
αβ1

(1 + αβ1)(1 + αβ2) − 1
· x,

8 �� � &  � � �� � % � 8  8 ,� B ?� � 8  ' � % ! 9 �  ! � ' & �7 %& � �! 7 9 �

x − u′
1 − u′

2 =
α2β1β2

(1 + αβ1)(1 + αβ2) − 1
· x,



� 9 � + � 9� � � + �  (  ! ! � �! 7  ! %' � �

H1(u
′
1, u′

2) = (1+αβ1) ln x+ a1, H2(u
′
1, u′

2) = (1+αβ2) ln x+ a2,

+ � % a1, a2  8 � % � %� B � & 'B '   & 7  � %7 �B � �

ai = ln

(

αβj(α
2β1β2)

αβi

[(1 + αβ1)(1 + αβ2) − 1]1+αβi

)

−βi ln 2, i, j = 1,2, i 6= j.



� �� � � �� � 6+ �  ( � � � % � & !  � �  R 7  ' & > ' � %� � & > ! 9 �  ! � ! �

� �� ��
T 8 & � � �� >7  % 8  ! % � %7 � % � ! 9 � + � 9� � � + �  (  ! 7 � 8  ' � % �7 % �

� �+ % � 9 , R % � 7 � % � ) 8 � �! � � , R % ' � � ,+ � � 7 � ; �� >7 9 � ,' �  ! � % ��

� � % �  ! � & %� >7  ) � �! 7  ! %' � % ! � ! ,: � �+  !  < �  � %� � ' !  �� & 'B

( � � � � ; % � �( ' � � � � � ?� � ! 9 � + � 9� % < � + �  (  ! ! � � �

H2
1(u1, u2) = lnu1 + αβ1(1 + αβ1) ln(x − u1 − u2) + β1a1, x = x0,

H2
2(u1, u2) = lnu1 + αβ2(1 + αβ2) ln(x − u1 − u2) + β2a2, x = x0.

S ,7 ( ?� � ! 9 � + � 9� � '  : � �7 � � � ! 9 8 ,( �  ' & >� A �:  �� � � �! 7  ! %' � %

8  A �� , � � ' � ' & % � 9 , � �! 7 %7 � <

1

u1
−

αβ1(1 + αβ1)

x − u1 − u2
= 0,

1

u2
−

αβ2(1 + αβ2)

x − u1 − u2
= 0.



T 7   8B & > 8 �� 7 � � � %& � � 7 % <7 9 < ! � �

u2
1 =

αβ2(1 + αβ2)

(1 + αβ1)(1 + αβ2) − 1
· x, u2

2 =
αβ1(1 + αβ1)

(1 + αβ1)(1 + αβ2) − 1
· x.

# �  �  � R �B � & � 8  ' & �  %7 �B � �� >� % ) 8 �� :  �� �( ! 9 !  � , ) ; &  

! n/ � �+  !  < � + � %  8 & � � �� >7 9 % ' & � � & %+ � � � � % � & ! � �

un
1 =

αβ2

n−1
∑

j=0
(αβ2)

j

n
∑

j=0
(αβ1)

j
n
∑

j=1
(αβ2)

j − 1
·x, un

2 =

αβ1

n−1
∑

j=0
(αβ1)

j

n
∑

j=0
(αβ1)

j
n
∑

j=1
(αβ2)

j − 1
·x.

(1.1)



#  ' � % � �7 7  +  ! 9 �  ! � � �� � % � 8  8 ,� B ?� � ' & �7  ! � & 'B � �! 7 9 �

x − un
1 − un

2 =

α2β1β2

n−1
∑

j=0
(αβ1)

j
n−1
∑

j=0
(αβ2)

j

n
∑

j=0
(αβ1)

j
n
∑

j=1
(αβ2)

j − 1
· x. (1.2)

# �� n → ∞! 9 � � R %7 �B "3 � 3 5 ) "3 � - 5 � � % � & 8 � % � %�

u∗
1 =

αβ2(1 − αβ1)x

1 − (1 − αβ1)(1 − αβ2)
, u∗

2 =
αβ1(1 − αβ2)x

1 − (1 − αβ1)(1 − αβ2)
.

�   & ! %& ' & ! %7 7  )

x − u∗
1 − u∗

2 = lim
n→∞

x − un
1 − un

2 = kx,

+ � %

k =
α2β1β2x

1 − (1 − αβ1)(1 − αβ2)
.
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 � � � �� � # � % � 8  �  R � � 7 �( � R �  �

� �+ % � + �  ( � � ' 8  � >� , � & ' & � � & %+ � � u∗
1, u∗

2� � & � � & ,B � � 7 � ; �� >7  +  

'  ' &  B 7 �B x0 ) ' � ' & % � � � , � %& � �� ! � ! � & >'B 8  � �(  7 ,

xt+1 = (xt−u∗
1(xt)−u∗

2(xt))
α = kαxα

t−1 = kα(kxα
t−1)

α = kα+α2
xα2

t−1 = ...

= k

t
∑

j=1
αj

· xαt

0 , t = 0,1,2, ...

# �� �  � >� � : t' � ' & % � � � , � %& 8 �� � � � R � & >'B ( ' & � ?�  7 � �7  � ,'  ' &  B 7 � �

x̄ =





1
1

αβ1
+ 1

αβ2
− 1





α
1−α

. (1.3)

# �� β1 = β2 = β ' & � ?�  7 � �7  % '  ' &  B 7 � % � � % %& ! � � x̄ =
(

αβ
2−αβ

)
α

1−α�



� � �� � �� � � � � �� � � � � &  � ' � , ; � % �� 7 � � � ( � 8  8 ,� B ?� � � � % %&

! � �

xt+1 = r(xt − u1 − u2), r > 1.

T 8 & � � �� >7 9 % ' & � � & %+ � � � + �  (  ! ! � �! 7  ! %' � � 8  A �� , !

�7  +  � �+  !  < � + � % ' (  7 % ;7 9 �+  �� �  7 &  �

un
1 =

β2

n−1
∑

j=0
(β2)

j

n
∑

j=0
(β1)

j
n
∑

j=1
(β2)

j − 1
· x, un

2 =

β1

n−1
∑

j=0
(β1)

j

n
∑

j=0
(β1)

j
n
∑

j=1
(β2)

j − 1
· x,

(  &  � 9 % ! 8 � % � %� % 8 �� n → 8 �� !  �B & ( ' & � � & %+ �B � ! � � �

u∗
1 =

β2(1 − β1)x

1 − (1 − β1)(1 − β2)
, u∗

2 =
β1(1 − β2)x

1 − (1 − β1)(1 − β2)
.



� �( ( �(
x − u∗

1 − u∗
2 =

x
1
β1

+ 1
β2

− 1
,

�� 7 � � � ( � 8  8 ,� B ?� � 8 �� � ' 8  � >�  ! �7 � � � + �  ( � � �  8 & � � �� >7 9:

' & � � & %+ � < 8 �� � %& ! � �
xt =

r
1
β1

+ 1
β2

− 1
· xt−1 =





r
1
β1

+ 1
β2

− 1





t

x0, t = 0,1, ...

� � 7 � � � ( � 8  8 ,� B ?� � ! � �! 7  ! %' � � ' , 	 %' & ! %7 7  � �! � ' � &  &

� 7 � ; %7 �B (  � 
 
 � ?� %7 & � r/( 1
β1

+ 1
β2

−1)� � ' � �  7 � %7 >� % % �� 7 � ? 9 )

8  8 ,� B ?�B ! 9 �  R � � %& 'B ) %' � � �  � >� % % �� 7 � ? 9�� 7 %  + � �7 � ; %7 7  

!  � � �' & � %& ) � %' � �  7 � �! %7 % �� 7 � ? % ) &  � �� � % � 8  8 ,� B ?� �

8  � � % �R � ! � %& 'B 7 � ' & �� � � >7  � , �  ! 7 %� � ' � , ; � % � �! 7 9: 
 �( &  �  !

�� '(  7 & � �  ! �7 �B β1 = β2 = β ) � �� ! � & � % � � � � ' ; %� 7  ! %7 � %

8  8 ,� B ?� �  8 � % � %� B � & 'B � 7 �(  � ! 9 � � R %7 �B β(r + 1) − 2�



�� � � � � �� � 
� � � � � � � 
� � � � �� �� � � � � �� � � �� �� �� � � 
�

� % �7 % � 'B ( 7 � ; �� >7  < �  � %� � xt = xα
t−1 ) α < 1 )� 8 � % � 8  �  R � � )

; &  � + �  ( � �  +  !  �� � � ' >  ' , 	 %' & ! � B & > '  ! � %' & 7 9 % � % <' & ! �B �

� , � % � ' ;� & � & > ) ; &  β1 = β2 = β� T � 	 % % , 8 � �! � %7 � %  �  � 7 � ;� �

u = u1+u2� � �( � % R % � �' ' , R � %7 �B )( �( � ! 9� % ) � � � &  8 & � � �� >7 , �

' & � � & %+ � � ! n/ � �+  !  < � + � %
un =

1 − αβ

1 − (αβ)n+1
· x,

' 8 � % � %� >7  < ' & � � & %+ � % < u∗ = (1 − αβ)x� �  + � � �� 7 � � � ( �

8  8 ,� B ?� � ! (   8 % � � & � ! 7  � � �! 7  ! %' � � � � % %& ! � �

xt = (αβxt−1)
α = (αβ)α+α2+...+αt

· xαt

0 , t = 0,1, ...,

8 �� � � � R �B ' > 8 �� �  � >� � : t( ' & � ?�  7 � �7  � , '  ' &  B 7 � �

x̂ = (αβ)
α

1−α . (1.4)



� � �! 7 � ! �B ' & � ?�  7 � �7 9 % '  ' &  B 7 �B "3 � 4 5 � "3 � � 5 ! (   8 % � � & � ! 7  �

� �! 7  ! %' � � � � �! 7  ! %' � � 8  A �� , ) � 9 ! � �� � ) ; &  

x̂ = (αβ)
α

1−α ≥ x̄ =

(

αβ

2 − αβ

)
α

1−α

,

& � %� (   8 % � � & � ! 7 9 % � % <' & ! �B � � � & �  � % % ! 9 '  ( � < � �� � % �

8  8 ,� B ?� � � � � �! 7 � � ! 9 � + � 9� � � + �  (  ! ! � & � : � �! 7  ! %' �B : �

�(   8 % � � & � ! 7  � � �! 7  ! %' � � � + �  ( � 7 �( � R �  � � �+ % 8  � , ; � � &

' , � � � �7 9 < ! 9 � + � 9�

uc = (1 − αβ)x̂ = (1 − αβ)(αβ)
α

1−α . (1.5)

6+ � �B 7 %(   8 % � � & � ! 7  )' , � � � � : ! 9 � + � 9� % < '  ' & �! � & ! %� � ;� 7 ,

" 8 �� β1 = β2 5

un = u∗
1+u∗

2 =
2αβ(1 − αβ)

1 − (1 − αβ)2
·x̄ =

2(1 − αβ)

2 − αβ

(

αβ

2 − αβ

)
α

1−α

. (1.6)



� �( ( �(

2 < (2 − αβ)
1

1−α, 0 < α, β < 1,

&  uc > un� � �( � �  � � ��  � )(   8 % � � & � ! 7  % 8  ! % � %7 � % 7 % &  � >(  

8 �� !  �� & ( � � �+  8 ��B & 7  � , ' ? %7 � �� � �� B 8  8 ,� B ?� � )7  & �( R %

� � � %& � + �  ( � � �  � >� � < ! 9 � + � 9� )7 % R %� �  7 � � , � , & � % <' & !  ! � & >
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n − a(n − 1)
.



A � < � % � ! 9 � + � 9� �  8 & � � �� >7 9 % ' & � � & %+ � � ! ' � , ; � % 8  � 7  <

(   8 % � � ?� � � 6 � " -� 1 5 � " -� � 5 8  � , ;� �

uI
i =

(1 − a)

n
εx , (2.10)

VI(x) =
n

1 − αδ
ln x +

1

1 − δ
BI , (2.11)

+ � %

BI = nBi + n(
1

1 − a
ln(n − a(n − 1)) − ln(n)) .

� � 7 � � � ; %'(  % , � �! 7 %7 � % 8 �� 8  � 7  <(   8 % � � ?� � � � % %& ! � �

xt = xαt

0 x̂I

t
∑

j=1
αj

,

+ � %

x̂I = εa .



� � � 
� � � �� # �� (   8 % � � & � ! 7  � 8  ! % � %7 � � � �� � % � 8  8 ,� B ?� �

� , � %& �  � >� % ) ; % � 8 �� 7 %(   8 % � � & � ! 7  ��

�� � �� �� �� � 	� 
� � � %+ (  ! � � %& > ) ; &  

x̂I = εa >
εa

n − a(n − 1)
= x̂N ,

7  �� B  8 & � � �� >7 9: ! 9 �  !  ! ! % �7   � � � & 7  % 7 % � �! %7 ' & !  

γI
i =

(1 − a)ε

n
<

(1 − a)ε

n − a(n − 1)
= γN

i .



� % 8 % � > 7 � < � % � : � � �( & % �� ' & � ; %'( , � 
 ,7 ( ?� � �� B � + � 9 )7 � ;� 7 � � 	 % <'B

! �  � %7 & t! '  ' &  B 7 � � x

V (L, x, t) =



















0, L = 0 ,
V ({i}, x, t) = Vi(x), L = {i} ,
V (K, x, t) = VK(x), L = K ,
V (I, x, t) = VI(x), L = I ,

(2.12)

+ � % Vi(x) ) VK(x) ) VI(x)� � % � & ! � � " -� 4 5 ) " -� � 5 � " -� 3 3 5�

� � � � � � � � B c > d 
 ,7 ( ?�B f(z) = 1
z ln

(

1 + zc

1 + zd

)

,� 9 ! � %& 8  z�

� � � 
� � � �� � � � �( & % �� ' & � ; %'( �B 
 ,7 ( ?�B " -� 3 - 5B ! � B %& 'B

' , 8 % � � � �� & � ! 7  < ) & � %�

V (K ∪ L, x, t) ≥ V (K, x, t) + V (L, x, t) , ∀t .



� � � � � � � � � � � � � � 
 � � � �
 �� �	 � �
 �� �

�( � ; %' & ! % 8 �� 7 ?� 8 � � �' 8 � % � %� %7 �B � %� % R � � , � % � � ' 8  � >�  ! � & >

! %( &  � � % 8� � � �  + � �(   8 % � � & � ! 7 9 < �  :  � � %� � & 'B ' � % ��

, ; �' & 7 � (  ! ' � % � , � 	 � �  � � ��  �

ξi =
∑

K⊂N, i∈K

(n − k)!(k − 1)!

n!
[V{K} − V{K\i}] , i ∈ N = {1, . . . , n} ,

+ � % k� ;� ' �  � + �  (  ! ! (  �� � ?� � K ) V{K}

� ! 9 � + � 9� (  �� � ?� �

K� V{K} − V{K\i}

� ! ( � � � � + �  ( � i! (  �� � ?� � K�

� � � 
� � � �� � %( &  �� % 8� � ! � �7 7  < � + � % � � % %& ! � �

ξi(t) =
1

1 − a
ln xt +

1

1 − δ
(Bi + Bξ) , (2.13)



+ � %

Bξ =
1

1 − a
ln(1 + (n − 1)(1 − a)) − ln(n) ≥ 0 .



�� � �� �� �� � 	� 
� � � 9 ;� ' � � � ! ( � � � � + �  ( � i! (  �� � ?� � K H

VK(xt) − VK\i(xt) = (AK − AK\i) ln(xt) +
1

1 − δ
(BK − BK\i) =

=
1

1 − a
lnxt +

1

1 − δ
Bi +

1

1 − δ
(k(

1

1 − a
ln(1 + (k − 1)(1 − a)) − ln(k))−

−(k − 1)(
1

1 − a
ln(1 + (k − 2)(1 − a)) − ln(k − 1))) .

� �7 7  % ! 9 � � R %7 � % 7 % � �! � ' � &  & i )  & ' � � �

ξi(t) =
∑

K⊂N, i∈K

(n − k)!(k − 1)!

n!
[VK(xt) − VK\i(xt)] =

=
n
∑

k=1

1

n
[VK(xt) − VK\i(xt)] =

=
1

1 − a
ln xt +

1

1 − δ
(Bi +

1

1 − a
ln(1 + (n − 1)(1 − a)) − ln(n)) .



� � � 
� � � �� � %( &  �� % 8� � " -� 3 4 5 
  � � � � , %& �� 7 � � � ; %'( �

,' &  < ;� ! , � 8 �  ? % � , � , � �' 8 � % � %� %7 �B � %� % R � � ,' �  ! � % �� B

� � ?�  7 �� >7  +  8  ! % � %7 �B "3 � 3 5 ! 9 8  � 7 B %& 'B �

�� � �� �� �� � 	� 
� � 6 � & %  � % � 9 3 ' � % � , %&

βi(t) =
1

1 − a
(ln xt − δ lnxt+1) + Bi + Bξ .

� ' �  ! � % � � ?�  7 �� >7  +  8  ! % � %7 �B 7 �( � R �  � � �+ % "3 � - 5 8 �� 7 � � � %&

! � �

1

1 − a
(lnxt − δ lnxt+1) + Bi + Bξ ≥

1

1 − a
(ln xt − δ lnxt+1) + Bi

�  7  ! 9 8  � 7 B %& 'B ) & �( ( �( Bξ ≥ 0�
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@ �' ' �  & �� � & % 8 % � > � � ,+  < ' ? %7 � �� < )(  + � � � + �  ( � ! 7 %(  �� � ?� �

K� 7 
  � � � � , � & 'B  
  � � � �  ! �7 � � (  �� � ?� � )� � � & % � � %7 B � &

' !  � ' & � � & %+ � � 7 � 7  ! 9 % )(  &  � 9 %  � � �� , � & 7  !  % � �! 7  ! %' � %

8  A �� , ! � + � % ' N\K� + �  ( � � � �

@ �� 7 � ? � ! ! 9 ;� ' � %7 � � : � � �( & % �� ' & � ; %'(  < 
 ,7 ( ?� � VK� � % <' & ! , % �

( �( � �7 >� %� � � B � + �  (  ! � � (  �� � ?� � K � %� � % � , � �! 7 %7 � %

� %� � � �7 �

ṼK(x) = max
ui∈K

{
∑

i∈K

lnui + δṼK(εx −
∑

i∈K

ui −
∑

i∈N\K

ũN
i )α}, (2.14)

+ � % ũN
i '   & ! %& ' & ! , %& � %� %7 � � , � �! 7 %7 �B � %� � � �7 � �� B � + �  (  !

! 7 %(  �� � ?� � K

Ṽi(x) = max
ũi∈N\K

{ln ũi + δṼi(εx −
∑

i∈K

ui −
∑

i∈N\K

ũi)
α} . (2.15)



� , � % � � '( � & > � %� %7 � % � & � : , � �! 7 %7 � < ! ! � � %

ṼK(x) = ÃK ln x + B̃K , Ṽi(x) = Ãi lnx + B̃i ,

�  8 & � � �� >7 9 % , 8 � �! � %7 �B ui = γK
i x, i ∈ K� ũi = γ̃N

i x� 6 �

" -� 3 � 5 ' � % � , %& ) ; &   8 & � � �� >7 9 % ! 9 �  ! 9 � + �  (  ! ! (  �� � ?� �

K � �! 7 9

ũK
i =

1 − a

k(1 + (n − k)(1 − a))
εx, (2.16)

� ! 9 � + � 9�

ṼK(x) =
k

1 − a
lnx +

1

1 − δ
B̃K , (2.17)

+ � %

B̃K = k(
1

1 − a
ln

(

ε

1 + (n − k)(1 − a)

)

+ln(1−a)+
a

1 − a
ln(a)−ln(k)) .



T & � %& � � 7 , R 7  % �� B � �� >7 % <� %+  � �! %7 ' & !  

B̃K = kBi + k(
1

1 − a
ln

(

1 + (n − 1)(1 − a)

1 + (n − k)(1 − a)

)

− ln(k)) . (2.18)

� � B � + �  (  ! ! 7 %(  �� � ?� � K  8 & � � �� >7 9 % ! 9 �  ! 9 � �! 7 9

ũN
i =

1 − a

1 + (n − k)(1 − a)
εx

� ! 9 � + � 9� �

Ṽi(x) =
1

1 − a
lnx +

1

1 − δ
B̃i,

+ � %

B̃i =
1

1 − a
ln

(

ε

1 + (n − k)(1 − a)

)

+ ln(1 − a) +
a

1 − a
ln(a) .



�   & ! %& ' & ! , � 	 �B �� 7 � � � ( � ! ' � , ; � % 
  � � � �  ! �7 �B (  �� � ?� �

K %' & >

xt = xαt

0 x̃K

t
∑

j=1
αj

,

+ � %

x̃K =
εa

1 + (n − k)(1 − a)
.

� � B + � �7 � /(  �� � ?� � I  8 & � � �� >7 9 % ! 9 �  ! 9 � ! 9 � + � 9� � '  ! 8 � � � � &

' 8 � % � 9 � , 	 � � ' ? %7 � �� % ��



� � � �( & % �� ' & � ; %'( �B 
 ,7 ( ?�B �� B � + � 9 )7 � ;� 7 � � 	 % <'B ! �  � %7 &

t! '  ' &  B 7 � � x� � % %& ! � �

V (L, x, t) =



















0, L = 0 ,
V ({i}, x, t) = Vi(x), L = {i} ,
V (K, x, t) = ṼK(x), L = K ,
V (I, x, t) = VI(x), L = I ,

+ � % Vi(x) ) ṼK(x) ) VI(x)� � % � & ! � � " -� 4 5 ) " -� 3 � 5 � " -� 3 3 5 )'   & ! %& ' & ! %7 7  �

� �( R % )( �( � ! �  � %� � � %� � 7 
  � � � ?� �  8 � % � %� � � ! %( &  �

� % 8� � � �� 7 � � � ; %'( � ,' &  < ;� ! , � 8 �  ? % � , � , � �' 8 � % � %� %7 �B

� %� % R ��

6 � " -� 3 � 5 � " -� 3 	 5 ' � % � , %&

ξi(t) =
1

1 − a
ln xt +

1

1 − δ
(Bi + Bξ) ,



+ � %

Bξ =
∑

K∈N

(n − k)!(k − 1)!

n!

[

k(
1

1 − a
ln(

1 + (n − 1)(1 − a)

1 + (n − k)(1 − a)
) − ln(k))−

−(k − 1)(
1

1 − a
ln(

1 + (n − 1)(1 − a)

1 + (n − k + 1)(1 − a)
) − ln(k − 1))

]

=

=
n
∑

k=1

1

n

[

k(
1

1 − a
ln(

1 + (n − 1)(1 − a)

1 + (n − k)(1 − a)
) − ln(k))−

−(k − 1)(
1

1 − a
ln(

1 + (n − 1)(1 − a)

1 + (n − k + 1)(1 − a)
) − ln(k − 1))

]

=

=
1

1 − a
ln(1 + (n − 1)(1 − a)) − ln(n) .

� � � 
� � � �� � %( &  �� % 8� �  8 � % � %� B %& �� 7 � � � ; %'( � ,' &  < ;� ! , �

# @ � �  � � ! 9 8  � 7 B %& 'B ,' �  ! � % � � ?�  7 �� >7  +  8  ! % � %7 �B �
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� � � 
� � � �� � 9 � + � 9� � ' !  �  �7 9: � + �  (  ! !  ! &  �  < �  � %� �

! 9� % ) ; % � ! 8 % �!  <�

�� � �� �� �� � 	� 
� � � 9 ;� ' � � � � �� 7  ' & > ! ! 9 � + � 9� �: �� B � + �  (  !

! 7 %(  �� � ?� � K H

Ṽi(x)−Vi(x) =
1

1 − δ
(B̃i−Bi) =

1

(1 − δ)(1 − a)
ln

(

1 + (n − 1)(1 − a)

1 + (n − k)(1 − a)

)

> 0 .



� � � 
� � � �� � 9 � + � 9� (  �� � ?� � K ! 8 % �!  < �  � %� � ! 9� % )

; % � !  ! &  �  <�

�� � �� �� �� � 	� 
� � � 9 ;� ' � � � � �� 7  ' & > ! ! 9 � + � 9� �: �� B � + �  (  !

! (  �� � ?� � K H

VK(x) − ṼK(x) =
1

1 − δ
(BK − B̃K) =

=
k

(1 − δ)(1 − a)
ln

(

(1 + (n − k)(1 − a))(1 + (k − 1)(1 − a))

1 + (n − 1)(1 − a)

)

> 0

& �( ( �(

(1 + (n − k)(1 − a))(1 + (k − 1)(1 − a))

1 + (n − 1)(1 − a)
−1 =

(k − 1)(1 − a)2(n − k)

1 + (n − 1)(1 − a)
> 0 .



� � � 
� � � �� � 8 % �!  < �  � %� � ;� ' � %7 7  ' & > 8  8 ,� B ?� � 8 ��


  � � � �  ! �7 � � (  �� � ?� � �  � >� % ) ; % � !  ! &  �  <�

�� � �� �� �� � 	� 
� � A � < � % � '   & ! %& ' & ! , � 	 , � � �� 7  ' & > H

xK − x̃K =
εa(k − a(k − 1))

1 + (n − 1)(1 − a)
−

εa

1 + (n − k)(1 − a)
=

=
(1 − a)2(n − k)(k − 1)

(1 + (n − 1)(1 − a))(1 + (n − k)(1 − a))
> 0 .



� � C �	 � � � � � � � � � 
 � � �� � � � � 
 � � � � �� � � � �� � � �	

T ' & �7  ! � � 'B 7 � � � ,+  �( �� & % �� � H C/B � � %�

# ,' & > � + � � � �� ! � ! � %& 'B ! �  � >(   8 % � � & � ! 7  < & � � %( &  �� � �

#  ( � R % � ) ; &  C/B � �  7 % 8 ,' &  �� B ( � R �  +  t ≥ 0�

C/B � �   8 � % � %� B %& 'B ,' �  ! �B � �
ξi(t) ≥ Vi(xt) ,

∑

i∈K

ξi(t) ≥ VK(xt) ,

∑

i∈N

ξi(t) = VN(xt) .



@ �' ' �  & �� � 8  � , ; %7 7 9 < ! %( &  �� % 8� �

ξi(t) =
1

1 − a
lnxt+

1

1 − δ
(Bi+

1

1 − a
ln(1+(n−1)(1−a))− ln(n)) .

T ; %! � �7  ) ; &  

ξi(t) ≥ Vi(t) =
1

1 − a
lnxt +

1

1 − δ
Bi .



6 � � % � � 9 ' � % � , %&

∑

i∈K

ξi(t) − VK(xt) =

=
k

1 − a
lnxt +

k

1 − δ
(Bi +

1

1 − a
ln(1 + (n − 1)(1 − a)) − lnn)−

−
k

1 − a
lnxt +

k

1 − δ
(Bi +

1

1 − a
ln(1 + (k − 1)(1 − a)) − ln k) =

=
k

1 − a
ln

(

1 + (n − 1)(1 − a)

1 + (k − 1)(1 − a)

)

− ln

(

n

k

)

≥ 0 .

∑

i∈N

ξi(t) =
n

1 − a
ln xt+

n

1 − δ
(Bi+

1

1 − a
ln(1+(n−1)(1−a))−ln(n)) = VN(xt) .

� �( � �  � � ��  � ) ! %( &  �� % 8� � � % R � & ! C/B � � %� = �  � % &  +  )7 �( � R �  � � �+ % ! 9 8  � 7 B � & 'B ,' �  ! �B � � ?�  7 �� >7  +  8  ! % � %7 �B

ξi(t) − δξi(t + 1) ≥ Vi(xt) − δVi(xt+1) .



� 9� % � 9  & � % ; �� � ) ; &  7 �� % � %� %7 � % � � %& # @ �  �� 7 �(  ! , �

�� B ! ' %: � + �  (  ! �
βi(t) =

1

1 − a
(ln xt − δ lnxt+1) + Bi + Bξ .

� ' � � 7 , R 7  ' � ! � 7 , & >'B � � ? %7 & � � C/B � � � ) �  R 7  � ' 8  � >�  ! � & >

� %&  � 9 � � 7 % <7  +  8 �  + � � � � � �  ! �7 �B

ξi(t) ≥ Vi(xt) ,
∑

i∈K

ξi(t) ≥ VK(xt) ,

∑

i∈N

ξi(t) = VN(xt) ,

ξi(t) − δξi(t + 1) ≥ Vi(xt) − δVi(xt+1) .
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A � 8 �� � % � ) �  R 7  � �' ' �  & � %& > ' � % � , � 	 � % 
 ,7 ( ?� �

T
∑

t=0

β1(t) −→ max .

�  R 7  � 7 & % � 8 � %& � �  ! � & > � &  ' � % � , � 	 � �  � � ��  � H' � % �� � � %7 & � ;7 9:

� + �  (  ! %' & > � � � % � "� + �  ( 3 5(  &  �  � , 7 , R 7  8� � & � & > �  � >� %

; % � � � ,+ � � � � (   8 % � � & � ! 7  +  ! 9 � + � 9� � � 8 �� � &  � ,' �  ! �B

� � ?�  7 �� >7  +  8  ! % � %7 �B ! 9 8  � 7 B � & 'B �


